
INSTRUCTION MANUAL

WWW.NEOMOUNTS.COM

DS70-810BL1

 

 

 

 

 

 

 

 

 

 

 

 

 

IT

EN 

NL 

DE 

FR 

ES 

PT 

DK 

Monitor desk mount

Monitor bureausteun

Monitor Tischhalterung

Support moniteur de bureau

Supporto da scrivania per monitor

Soporte de escritorio para monitor

Suporte de mesa para monitor

Bordbeslag skærm

NO 

SE 

FI 

PL 

CS 

SK 

RO 

Bordstativ til skjerm

Skrivbordsfäste för bildskärm

Näytön pöytäteline

Uchwyt nabiurkowy do monitora

Stolní držák monitoru

Držiak na monitor

Suport de birou pentru monitor

Measuring unit: mm

1
0

-8
0

1
0

-8
5

1
6

5
-4

5
0

117

100

75

1
1

7

1
0

0

7
5

285-34010070

1
0

0

+45°

360°

-45°

360°

360°+/-90°

+/-90°



 

 

 

 

 

 

 

PARTS

DS70-810BL1

Tool Drill

F. M6x12

(x3)

K. M8

(x1)

N. 4mm

(x1)

O. 6mm

(x1)

P. 10-13mm

(x1)

M-A. M4x12

(x4)

M-B. M5x12

(x4)

M-C. D5

(x4)

H. M8x105

(x1)

Install the clamp to the desk - for desktop thickness 

between 45-85 mm

Installeer de klem aan het bureau - voor bladdikte 

45-85 mm

Installieren der Klemme an den Schreibtisch - für 

Tischstärken zwischen 45-85 mm

Installez la pince sur le bureau (prévu pour un bureau 

d'épaisseur entre 45-85 mm)

Installa il morsetto sulla scrivania - per spessore del 

desktop tra 45-85 mm

Instale la abrazadera en el escritorio - para el grosor 

del escritorio entre 45-85 mm

Instale a braçadeira na mesa - para espessura de mesa 

entre 45-85 mm

Zainstaluj zacisk na biurku - dla grubości pulpitu od 
45-85 mm

EN

NL

DE

FR

IT

ES

PT

PL

STEP 1 Grommet

Install the clamp to the desk - for desktop thickness 

between 10-50 mm

Installeer de klem aan het bureau - voor bladdikte 

10-50 mm

Installieren der Klemme an den Schreibtisch - für 

Tischstärken zwischen 10-50 mm

Installez la pince sur le bureau (prévu pour un bureau 

d'épaisseur entre 10-50 mm)

Installa il morsetto sulla scrivania - per spessore del 

desktop tra 10-50 mm

Instale la abrazadera en el escritorio - para el grosor 

del escritorio entre 10-50 mm

Instale a braçadeira na mesa - para espessura de mesa 

entre 10-50 mm

Zainstaluj zacisk na biurku - dla grubości pulpitu od 
10-50 mm

EN

NL

DE

FR

IT

ES

PT

PL

Install the grommet through the desk

Installeer de doorvoer in het bureau 

Befestigen Sie die Tülle durch den Schreibtisch

Vissez le support à travers le bureau avec la plaque 

sous le plateau 

Installare l'occhiello attraverso la scrivania 

Instale la arandela a través del escritorio 

Instale o anel através da mesa 

Zainstaluj przelotkę przez biurko 

EN

NL

DE

FR

IT

ES

PT

PL

A. (x1) L. (x1) M. (x1)

B. (x1) C. (x1) D. (x1) E. (x1) G. (x4) I. (x1) J. (x1)

N

F

B

A

G

N

F

B

A

G

10-50mm

1

C

2

N

D

D

10-80mm

Ø10 mm
(Ø3,8")

or

10-80mm

H
N

F

I

A

J

L
K

P

G

45-85mm1

2
C

N

3

75x75 -

100x100 mm

1-9 kg 26,5-55 cm 0-49 cm

STEP 1 ClampA

STEP 1 ClampB



Attach the VESA plate to the monitor

Bevestig de VESA-plaat aan de monitor

Befestigen Sie die VESA-Platte am Monitor

Fixez la plaque VESA sur le moniteur

Fissare la piastra VESA al monitor

Coloque la placa VESA en el monitor

Fixar a placa VESA ao monitor

Przymocuj płytkę VESA do monitora

EN

NL

DE

FR

IT

ES

PT

PL

STEP 2

STEP 3

Attach the screen to the mount and secure it

Bevestig het scherm aan de steun en zet vast

Befestigen Sie den Bildschirm an der Halterung

und sichern Sie ihn

Fixez l'écran au support et sécurisez-le

Fissare lo schermo al supporto e fissarlo
Coloque la pantalla en el soporte y fíjela

Colocar o ecrã no suporte e fixá-lo
Przymocuj ekran do uchwytu i zabezpiecz go

EN

NL

DE

FR

IT

ES

PT

PL

* Not Included

Too Long Too Short

E

M-A

M-B

M-C

Adjust the gas spring

Stel de gasveer af

Gasfeder-Höhenverstellung einstellen

Ajuster le ressort à gaz

Regolare la forza della molla

Ajustar la fuerza de resorte a gas

Ajuste a força da mola a gás
Ustawić naprężenie sprężyny

EN

NL

DE

FR

IT

ES

PT

PL

STEP 4

STEP 5

Attach the cable clibs

Bevestig de kabelclips

Bringen Sie die Kabelklemmen an

Fixer les pinces à câble

Collegare i fermacavi

Fijar los clips de cable

Fixar os clips de cabos

Zamocuj zaciski kablowe

EN

NL

DE

FR

IT

ES

PT

PL

M

Unlock

Lock

O



Route the cables

Geleid de kabels 

Verlegen Sie die Kabel 

Guidez les câbles

Guidare i cavi

Guiar los cables

Guiar os cabos

Prowadzenie kabli

EN

NL

DE

FR

IT

ES

PT

PL

STEP 6

Adjust the mount to the desired position

Stel de steun in op de gewenste positie

Stellen Sie die Halterung in der gewünschten 

Position ein

Ajustez le support à la position souhaitée

Regolare il supporto nella posizione desiderata

Ajuste el soporte a la posición deseada

Ajuste o suporte na posição desejada

Dostosuj pozycję uchwytu do twoich wymagań

EN

NL

DE

FR

IT

ES

PT

PL

STEP 8

STEP 7

Adjust the torque

Stel het koppel in

Einstellen des Drehmoments

Réglage du couple

Regolazione della coppia

Ajuste el tornillo

Ajuste os parafusos

Regulacja momentu obrotowego

EN

NL

DE

FR

IT

ES

PT

PL
Tighten the limiting screw 

(do not over tighten).

Remove or loosen the 

limiting screw.

Arm can rotate 180°.

Arm can rotate without stopping.

N

±90°

N
±180°

N



24.07


